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MULTIPLE CHOICE QUESTIONS (4% for each gquestion)

In the foliowing multiple choice questions, choose the correct answer.

1. If A and B are independent events with P(A) = 0.65 and P(A (1 B)= 0.26, then, P(B) =
a. 0400
b. 0.169
c. 0.390
d. 0.650
2. A six-sided die is tossed 3 times. The probability of observing three ones in a row is
a. 173
b. 1/6
c. 1127
d. 1/216

A simple random sample of 100 observations was taken from a large population. The

)

sample imean and the standard deviation were determined to be 80 and 12 respectively. The

standard error of the mean is

a. 1.20
b. 0.12
c. B8.00
d. 0.80
4, Which of the following is an example of nonprobabilistic sampling?

a. simple random sampling
b. stratified simple random sampling
¢. cluster sampling

d. judgment sampling

5. Which of the following is(are) point estimator(s)?
a g
b. n
c. s
d o
6. A random sample of 16 statistics examinations was taken. The average score, in the sample,

was 76.2 with a variance of 144, The 99% confidence interval for the true average
exaimination score is
a. 49.67710102.723
b. 73.9%91t0 78.41
67.359 10 85.041
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7. An interval estimate is a range of values used to estimate
a. the shape of the population's distribution
b. the sampling distribution
¢. asample statistic

d. apopulation parameter

Exhibit AA

n=16 X =75.76 s = 8.246 Hp: 1280

He u1<80

8. Refer to Exhibit AA. The standardized test statistic equals

a. -2.12

b. -0.53

c. 033

d  0.483
9 Refer to Exhibit AA.  The p-value is equal to

a. -0.025

b. 0.05

c. 0.525

d. 0.025

10. If a hypothesis is rejected at 95% confidence, it
a. will always be accepted at 90% confidence
b.  will always be rejected at 90% confidence
¢, will sometimes be rejected at 90% confidence
d. None of these alternatives is correct.

- Exhibit BB

today and those envroiled five years ago. A sample of final examination scores from students enrolled

today and from students earolled five years ago was taken. You are given the following results.

- Today Five Years Ago
Mean 82 88
Variance 112.5 54
Sample Size 45 36
11. Refer to Exhibit BB. The point estimate for the difference between the means of the two

populations is

a. 585
b. 9
c. -9

d -6

A statistics teacher wants to see if there is any difference in the abilities of students enrolled in statistics
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12. Refer to Exhibit BB. The point estimate for the standard deviation of the difference between

the means of the two populations is

a 129
b. 9.3
c. 4
d 2
13. A sample of 41 observations yielded a sample standard deviation of 5. If we want to test H:

o’ = 20, the test statistic is

a. 100
k. 10
c. S51.25
d. 50
Exhibit CC
The table below gives beverage preferences for random samples of teens and adults.
Teens Adults Total
Coffee 50 200 250
Tea 100 150 250
Soft Drink 200 200 400
Other S0 _50 _100
400 600 1,000

We are asked to test for independence between age (i.e., adult and teen} and drink preferences.

14, Refer to Exhibit CC. The calculated value for this test for independence is
a. 0
b. 84
c. 615
d. 825
15. Refer to Exhibit CC.  The result of the test is that the

a. hypothesis of independence can be rejected
b. hypothesis of independence cannot be rejected
c. ftestis inconclusive
d. None of these alternatives is correct.
Exhibit DD
You want to test whether or not the following sample of 30 observations follows a normal distribution.

The mean of the sample equals 11.83, and the standard deviatipn equals 4.53.

2 3 5 5 7 8 8 9 9 10
11 I 12 12 12 12 13 13 13 14
15 15 15 16 i6 17 17 18 18 19

(BT EMAE Hasiaex)
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16, Refer to Exhibit DD. The calculated value for the test statistic equals

g 0
b. 1.67
c. 2
d 6
17. Refer to Exhibit DD.  The hypothesis is to be tested at the 5% level of significance. The

critical value from the table equals

a. 1.645
b. 1.96
c. 7815
d. 12,592
18. Refer to Exhibit DD. The conclusion of the test is that the

a. data follows a normal distribution
b. da;a does not follow a norma) distribution
¢. testis inconclusive | |
d. None ofthese alternatives is correct.
Exhibit EE
Part of an ANOVA table is shown below. (hint: you need to fill the table first)

the populations are equal, the critical value of F is

a. 5.80
b. 293
c. 3.16
d 290 _
20. Refer to Exhibit EE. The conclusion of the test is that the means
a. are equal |

b. may be eqﬁal
¢. dre not equal

d. None of these alternatives is correct.

" Source of Sumof Degrees ~ Mean
Variation ' Squares . of Freedom . Square F
Between Treatments 64 ]
Within Treatments 2
Error -
Total 100
19. Refer to Exhibit EE. If at 95% confidence we want to determine whether or not the means of
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21 In a regression model involving more than one independent variable, which of the following
tests must be used in order to determine if the relationship between the dependent variable and
the set of independent variables is significant?

a. ttest
b. Ftest
¢. Either at test or a chi-square test can be used.

d. chi-square test

Exhibit FF

The following information regarding a dependent variable (Y) and an independent variable (X) is

provided.
Y X
4 2
3 1
4 4
6 3
8 5
SSE=6
S8T =16
22. Refer to Exhibit FF. The coefficient of determination is
a. 0.7096
b. -0.7906
c. 0.625
d. 0.375

23. Refer to Exhibit FF. The MSE is

a. |
b. 2
c. 3
d 4
24, In multiple regression analysis, the correlation among the independent variables is termed

a. homoscedasticity
b. linearity
¢. multicollinearity

d. adjusted coefficient of determination _
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A regression analysis involved 17 independent variables and 697 observations, The critical
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value of t for testing the significance of each of the independent variable's coefficients wili
have
696 degrees of freedom

a.
b. 16 degrees of freedom

o

713 degrees of freedom
d. 714 degrees of freedom
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4 0.2069%0 0.297110 0.484419 0.710721 1.063623 7.77944 9.48773 11.1433 13.2767 14,8602
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17 5.69724 6.40776 7.564(8 8.67176 10.0852 24,7690 27.5871 . 30.19t0 33.4087 35.7185
18 6.26481 7.01491 8.23075 9.39046 10,8649 25.9894 28.8693 31.5264 34,8053 37.1564
19 6.84398 7.63273 8.90655 10.1170 11.6509 27.2036 30.1435 32.8523 36.1908 38.5822
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